
Assembly Instruction

10x12FT Cedar Framed Hardtop Gazebo 

OD06KTSC12SN



2



3

4/4 BOX

2/4 BOX:2PCS

1/4 BOX:2PCS

1/4 BOX

QtyItem no Reference Image

2/4 BOX
1515mm

1714mm

PARTS LIST



4

3/4 BOX

QtyItem no Reference Image



5

3/4 BOX

Item no Qty Reference Image



6

3/4 BOX

Item no Item noQty QtyReference Image Reference Image



7

3/4 BOX

Item no Qty Reference ImageDescription

M8*145

M5*30

GG 14+2 M6

M6*5512+1KK

M8*60

M6*45

M6*25

M6*15

Φ6x200UU 16



8

4/4 BOX

QtyItem no Reference Image



9

104+5SS

WW

VV

QtyItem no Reference Image

4/4 BOX



10

Please note the pilot hole direction.

1714mm



11

Please note the pilot hole direction.

3432mm



12



13

1515mm



14



15



16



17



18



19



20



21



22



23



24



25



26



27



28

Fix S1 and S2 with screws KK.



29



30



31



32

  DO NOT FULLY TIGHTEN.



33



34

  DO NOT FULLY TIGHTEN.



35

  DO NOT FULLY TIGHTEN.



36



37

  DO NOT FULLY TIGHTEN.



38

  DO NOT FULLY TIGHTEN.



39



40



41



42



43

Fix B1 and 02 with BB.



44



45



46

DO NOT FULLY TIGHTEN.



47



48

8

DO NOT FULLY TIGHTEN.



49



50



51



52



53

STEP.44

WW 1X SS 52X

WW

SS E1/E2/E3/E4

WW

6 7



54

STEP.45

VV 1X SS 52X

VV

SS E1/E2/E3/E4

VV
6 7



STOP!STOP!

Call us First！
DO NOT RETURN TO STORE
For immediate help with assembly or product information 

call our number:
(951) 213-4742

Or E-mail:
Contactus24service@gmail.com

Our staff is ready to provide assistance 
M-F 9:00 AM to 5:00 PM EST


	OD06KTSC12SN 10x12双顶挑檐木篷说明书
	OD06KTSC12SN 10x12双顶挑檐木篷说明书-1
	OD06KTSC12SN 10x12双顶挑檐木篷说明书
	10X12小尺寸木头挑檐棚说明书 C0350595-0598


	OD06KTRZ1220SB 说明书（更新） 56



